Lesson 4 - Quiz Questions

4 '\
V Opening 1 of a Suit

1 What would your opening bid be with these hands?

A AKT

T987 Why?
AK765
Q

e & € >

Q652

AKJ98 Why?
762

P & € >

Q6532

AKQ76 Why?
7

KQ

P & € >

Q652
KQ9s Why?
AK2
KQ

P & € >

KQ52

97 Why?
AKJS8

QlJa

P & € >

2 Your partner opens 1a. What do you respond with these hands?

A A4 Q652

v 87 Why?
¢ 762
*Qla
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AQ62
AKS8
762
Q94

P & € >

63
A76
KT97
T94

e & € >

98763
95
A86
T94

P & € >

3 What is Opener’s rebid in the following examples after partner makes

Why?

Why?

Why?

these limit bid responses? Why?

A Opener
aJ43
vAT63
¢ AQ7
% KJ6

lv 2v
?

B Opener
AK83
vQJT86
¢ AQT
A7

lv
?

3v

Opener
4AJ62
YAQ63
+QJ2
$JT32

lv

4 What would be your opening lead against 4 Spades holding the

following?

A A A
v AKS8
¢ T987
& 87643

Why?
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A 9765

v9 Why?
¢ A87

& 87643

A
Ql976 Why?
T

876432

e & € >

5 What is your score in the following situations? ? Assume your
side is non vulnerable in all cases.

You are in 34 and you make 3 (taking 9 tricks)

A

B You are in 3a and you make 4 (taking 10 tricks)

C You are in 4 Diamonds and you make 4 (taking 10 tricks)
D

You are in 4 Hearts and you make 4 (taking 10 tricks) Your
side is non-vulnerable.

E What is your score in D (above ) if your side was vulnerable?
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